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COMPUTER SCIENCE
' COMPUTER APPLICATION
INFORMATION TECHNOLOGY
(Honours Generic/Regular Core)
For Honours Generic

. ‘Answer the Questions from any one Option.

OPTION-A
( Programmmg in C++ )
Paper : CSC-HG-2016 -
‘ OPTION - B
( Database Management System )
Paper : CSC-RC- 2016/CSC‘HG—‘2026

'OPTION-C -
( Introduction to Programming in C)
Paper : CSC-HG-2036 / TCA-HG / RC-2016 / TIT-RC-2016

Full Marks : 60
Time : Three 'hours

The figures in the margm indicate
Jull marks for the questions '

Answer either in English or in Assamese.
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OPTION - A
(Programiming in C++)
Paper : CSC-HG-2016

1. Answer the following questions : 1><7=7.
(@) State True or False:
C++ supports. multiple inheritence.
C++ S{@ multiple inheritence s FA|

(b)) _______is a user defined type that

contain data members. and member

functions. , S
(B user defined type ® .data
members W& member functions (IF
R
' (¢) State True or False

In C++, -a reference variable is a
pointer to a memory location.

7% 7 eprey ol &
~ C++ 9, reference variable (& memory

location & &bt pointer 3 @i
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¢xpression ?
95y €Xpressio; L-val -
| on 3 Lyg o
o v .value e R—value :
() What is the use of conslructor 'in'C;¥ >

C++ Constructor g R ﬁs o

() State Tyye or Falsé .

in  muftiple
eter are different.




2. Answer the foll_(_ﬁwjng questions ‘ D AR
(@ What i Vo
andafanls (E}gfess ffir?ff pbetween a class
?b) A :: St object 3 srrv:ﬂ ofiefey 7
Op;;tcﬁs Ehe USe of new and delete
new’
(c) What Ti delete’ operator 5y f?
3 variableériéble ? Define the scope of
ariab '
it ﬁ;.{m f Fw17 Variable 3 scope ¥
(d)

Wh ¥ . - .-
at is inline function 2

| Inline function iz g =2
?
following :

R A5t i g foay 5

(@) Write the differenc
value and call by r

€ between call b
eference. 4
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(b)

(@)

(e)
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Explain the concept - of -static and
dynamic memory allocation in C++.
Static @I dynamic memory allocation
7 RACE! ol w4l | "

difference * between
and function

What is the

prototype
in C++? Explain with

function
definition
suitable example.

C++ © function prototype I function
definition- e A} e TARITR

g w4

What is friend function ? Write a C++
program to. demonstrate the use of

‘friend function in a class.

Friend function = & &2 Friend
function- TR (TYARCET @Bl CH+ <
program vl

Wha;t‘ is polymorphism in C++?
Explain different types - .- of
polymorphism in C++.

Polymorphism 3 & q@ie C++ I fdfen
polymorphism 329 =G 9
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fOHOWing .

a : : . .
- '}:"tl)lrl::tt::aris the. difference between a
Wconstan:, ﬁ? m‘tgr and pointer to

- Suitable €xample ++?  Explain with

10x3=30" |

(b) What is files

! W R ety Riw o -
filestr ¢ 4
WT;r:aaén RN 1 file-3 data
T e T 0o & prgea

(c) Write a C++ proos .
. Program to displa;
factorial of a number using reF::ux}"sig:)e

Recursion TR IR B AR factorial
PRI Cte B! program fayat (

(d) What is inheritence ? Explain about

different es . I
suitable eﬁgfnple.Of inheritence with
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ny : "t"‘feQ Questions from the |

@

Inheritence W& & w?ﬁ%ﬂ ol

inheritence R BRI I FA |

What are structure and union ? Write
a C++ program to show the use of
array of structure. What is the
difference between break and continue
statement ?

Structure ®I% union M & &2 Array
of structure (T4 C++ © @Bl program

~ fFit Break ®i® continue s.tatcnient-ﬁ, .

i< - forin|

Create a class called ‘Tectangle’, which
has three data members ‘length’,
‘breadth’ and ‘area’ of the rectangle.
Write a bublic member function getData
().to take the initial values of length’
and breadth’. Another public member
function getArea () will calculate the
area of the rectangle and 'diéplay () will
display all the information. Note that
area is. calculated as length » breadth. -
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'.:i'ectang’le» A L‘]%T claés ' ‘ T | _ OPTION B
- léngth’
datagth ‘b;eadth € ‘area’ FNE O f’ﬁﬁ ‘ ( Database Management System)
B me |
- mber | getData () T €0 Paper : CSC—RC—2016/CSC—HG—2026
’w Cc member functlon ﬁ*[‘an ﬁ] ‘length l - .
‘breadth < value 751 input fzoieA

S| getA 1. Fill in the blanks : 1x7=7
fu getiirea () AT ot public member o o .
function Bt fithi | LR DI o A ¢
" Rt rectangle (B area |
public ¥ i display () == «ot (a) RDBMS stands for
member function fyal ﬁf@f@ ‘ .
RRE info RDBMS & 3“ CIECEIGIR
] | rmation display 31 :
'l lgth“g area * fsley 9 W CG R () COUNTisa ___- ' functlon in SQL
en b : :
readthl Lo : SQL-? COUNT uﬂﬁ ‘ funct10n.
© deﬁnes the property of an
. entity. ' ~
s ‘entity nﬂ%ﬁtaﬁildeﬁne |
\ ’ ’ .
' : (d) DML stands for
' DML-4 efoRfe T
() - ___ operator is’ used for' select

o operations in relational algebra.

Relational algebra—ﬁ , opel.*a'tor
(Bl select efEFmR T I T 2|
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(ﬂ The _ identifies in'd; i '
unlquely vidual tuples
| 9 91% tuple QN ‘r”wwq
'?Kal‘
) T
'(g.) S]:(I;L lieslsm data retneval statement in
bl TR AR SQLEW @mma;ﬁas'
T e L |
- Define the following terms : 't Ox4=8
weTe Al e Bt 3 |

(@) Candidate key and Super key

(b) Simple attribute

. and - Co $
attribute mp081te

{c) Data independence

(d) Entity integrity g ‘

. g‘l | .
ey ty and Referential

Answer any three questions :

(a) What is relational algebra? Explain

any two o :
algebra, - perations of relational

5x3=15

Relational algebra 2 R ﬁ?@ﬂ’m Ffﬁ?'
e A 1

(b) Briefly explain the characteristics of
DBMS. '

a DBMS-?@W‘RWWWI

(c) .Brleﬂy explain .the three DDL

commands with examples in SQL.
Bz IS SQL- f6fiot DDL command
TR [ T
(@ Briefly explain the DBMS architecture.
i DBMS- architecture 533 I A1

(e) How to convert ER diagram into
relatlonal table ? Give the rules .

ER-dmgram—? sl (@S relational
‘table A WolGR T T2 P!

. . Answer any three of the following :

10x3=30

'ﬁmmf—ﬁﬁmwmé

(a) Explain the advantages and
disadvantages of DBMS. 5+5=10

DBMS-3 7Ryl oI Wﬂﬁw [ I
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(b)

Consider the relational schema and

write _SQL statements to perform the
following tasks : 242+2+2+2=10

weid relation schema (Gi CFIT?I’T % e
SR AE SQL Tfe forell 2 |

. WORKER (WORKER_ID, NAME

ey o,

'SALARY, JOINING DATE
DEPARTMENT) .

(i) Display worker ID and joining

date of Admin Department.
Admin Departmenf—"ql' worker ID
< joining date olel 41 |

(i) Display records in ‘ascending

order of salary.
7Rl A TS ([FFG Al T4 |

(iii) 'Display‘records having salary in
the range 5000 to 9000.

5000-4 Al 9000 #RFE vl

@G ol 91

(iv). Display the record of persons

whose name ends with ‘@a’.

a?ﬂz—m\;maﬁﬂﬁ
WWI

f"nﬂ,fd'

(c)

(d)

()

Wnte short notes on the following :

5+5=10

feste TR o faae T ¢

(i) Primary key |
(i) Foreign key

Consider  the following relational
schema : 2+2+2+2+2=10
w#@ relational schema RGN l
EMPLOYEE (Eno, Ename, Salary,
: DOB Dnum)

DEPAR’I‘ MENT (Dnum, Dname, Mgrno)

Write SQL
following :

A e i@ SQL B B ¢

(i)

Display the" record of persons -
whose name start with ‘S’

m‘sawwmﬁw
@wwxﬁw\

statements  for the

names and date of birth

Display
ments.

of managers of all depart

s department-9 GG =
Wi T el ofe 4|
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? F’3NF
an

(lll) Dlspla
. y the name‘s Of' .
3 employees,

(@) Increase salary of ever’
“mployee by 10,
. _‘ o . ’

(v) Dis -
- Play details of. . T
. Who borp after 01.0; 2(e)z)nployees

, :01.200¢. -

101.01.2000 5 fogee -
RS Sereyy ‘
e R

IR R foy

wi
ith CXamples i, RDBMs
2+2+2+2+2=10

¥ INF
| . ’ 2NF’_.3NF
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() -Explai
'depende'ncies with pro

e Gl OW®

n différent types A.of functional
per examples.

| functional '

. dependéncies3. RfSw PR Tl |
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| (Intrjoduction to Proé ‘
) Paperb : CSC-HG-2036 / TCA ’
" 1. Answer the

directed - followj ‘
- ,ed. Owing . questions as

Wmaﬁ@mﬁm/ e 1x7=7
@ Which of n. .. O i ¢

~identifier » th?"fouo“’ing is a ald |
: _ e vall

4 b t«'%?
(l) Static. ‘ . :
@ For .

. (i) Int‘eger’ .

funCtion. .

’ 6

~HG / RC-2015 / o6
| ./ RC-2016 TIT-RC-2016  °

operators have higher
an arithmetic operators.
(State true or false)

(9 Assignrﬁén_t |
precedence th

Aééig_nment_ :operator g precedence -
o @Rl |

arithmetic operator .
' (% (7@ T sl)

used to terminate

d statement is
(Fill in the blank)

a loop.
«qoi loop. ¥ aﬁﬂ'ﬁ B . statement |
SRR (IR AT )

es are initialized only

. (e Static variabl
(State true or false)

once.
Static variable @fi@ GRIE s s
eull (8% 7 qET o)

() Two pointers cannot be multiplied:

| (State true or false)
78! pointer 4¥ R @RR ,
. (&% o oTm o,

function is used to move or
position of the file pointer
d offset. (Fill in the blank).

File pointer-% g e R _
function I vl WA 37? akial)

@ ———
change the

to a specifie

-
(Sem-2/cBCS) CSC HG 1/2/3,RC/G 17 Contd,



function call by

2. Deﬁn L
€ the fOllo . ! ‘ ) ;
G R ers B 1 (d) Differentiate between
Ui : =8 : ! value ~andsically by reference Wwith
(@) Rese } suitable example. :
- rved - |+ i : ,
(b)) Null & Tk f | Function call by value ¥ call by
(c) e, ! reference ool CaT SIS e Tl
~ Scope of variable - & | (e) Write a function to return the HCF of
(d) Array : ! : two positive ini_:egers.
3. Answ > ' | 5 g AR HCR S b1 T
questions : Y three of the fol . 1 ﬁ*nl A
& ollowing ‘ 4. Answer any three of the following
Fofaby epg ey IGEI >*3=15 | questions : : 10x3=30
(@) Explai ; | ezt fofaot era T il ¢
Plain diff, j ; .
. erth . oo . k )
available in ¢ Primitive datq type (a) Briefly explain the following library
Alguage-g | . unctions : ‘ :
type @iRq 3¢ oo @l library function @<E 59 39
(b) Di ) ' | ' |
1fferent1ate o . izl
AT By s | () powl)
()  Lval ; | (i) - sart()
J ue and ‘ bk :
(i)  Break ang el 3% (iii) abs()
(¢) What ls : Continye ‘ (iv) fclose()
fe : Stora - ,
atures of differg;t Clasg ? List ! (1{) fseek( )
Storage clas Storage (] thig - (p) What is recursion and how does it
[QIRsaic] i ey ¢ e ‘ » Write a recursive function . to
1 storage work ? Writ€ : ,
class-§ compute the factorial of a number.

Contd.
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Recursion & WIi%. @@ I 512 51

WA factorial Sfewtsr @Bt recursive
FIHw ot '

Write a program to find roots of
quadratic. equation.

uﬂ%‘if%ﬂrﬂﬁmcﬁwﬁﬁm’caaﬁ cenaw
forar

Write a program to merge two sorted

arrays.

%G! sorted array Rt ?Fﬁ?l??f <5} C&‘Tﬁm

ﬁvm

'erte a program to mu

lt1p1y two
matnces

. B! matrix emasﬁata Glole oy ﬁwn

erte short notes on :
5 (Bl o g

(i) Relatlonal and loglcal operators
(i) . Structure "

1700
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